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SA - B - S9I(31H) - HISAY - BES A
—S200Al8] 8,000& x14&H 20 2,240
OS A Xt 5,232
—ZHHS A 286,000& 10+ 123 3,432
—SHEAD| 150,000& *1CH+ 122 1,800
OF=I Xt 55,0003 *1CH* 123 660
02 32| 28,639
ORERZ 150,000& x 122 1,800
OJIEtE3R=a 9,960
—&l|Ie3 9,960
HAL- HOIE=ZSE 400,000 128 4,800
HEX==U 10,0003+ 12& 120
SSF= 20,0003 122 240
ARG B 400,00081% 122 4,800
ozt 6,849
SN,
1,300&1%1.7 £ *BAI2H+3CH* 100 5,304
—=34 1,300 %4.95 § *BA| 2+x30 1,545
Oxr&E=A2el 9,450
—4832(E8R) 3,450,000 *1CH 3,450
—ZESE(FLR) 1,500,000+ 1CH 1,500
— &= IHAS XSGR E)
3,450,000 *1CH 3,450
—EEI(X L ASEQEH0| S)
350,000 *3CH 1,050
OXtS A 100
—3t2 40,0003 *1CH 40
—d8sE 60,0002 +1CH 60
OU=ER3 40,0003+ 12 480
202 04d| 40,600
01 =WOdbI 40,600
O&LHo Y| 200,000& x14F 123 33,600
O&2|04d| 50,0002 *14HE 10 7,000
203 YRF=&IH| 10,560
01 J| 22 =8| 7,000 0
o 7,000,000& 7,000
02 BRIAHE R FAIH| 560
OFIINLDETY| 40,00081% 1424 560
W REEEEESST 3,000
ORN2ILRFA| 250,000& =123 3,000




